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Name: __________________________________



1
Steve drew line segments ABCD, EFG, BF, and CF as shown in the diagram below.  Scalene [image: image1.png]ABFC



 is formed.

[image: image2.png]



Which statement will allow Steve to prove [image: image3.png]ABCD || EFG



?

	1)
	[image: image4.png]LOFRG

'FCB





	2)
	[image: image5.png]LABFR = L BFRC





	3)
	[image: image6.png]LEFB = ZCFB





	4)
	[image: image7.png]L OBR = LGFC







2
In the diagram below, [image: image8.png]FE



 bisects [image: image9.png]AC



 at B, and [image: image10.png]


 bisects [image: image11.png]BD



 at C.

[image: image12.png]



Which statement is always true?

	1)
	[image: image13.png]




	2)
	[image: image14.png]




	3)
	[image: image15.png]BD



 bisects [image: image16.png]GE



 at C.

	4)
	[image: image17.png]


 bisects [image: image18.png]FE



 at B.



3
In the diagram below, lines [image: image19.png]


, m, n, and p intersect line r.

[image: image20.png]



Which statement is true?

	1)
	[image: image21.png]




	2)
	[image: image22.png]




	3)
	[image: image23.png]




	4)
	[image: image24.png]






4
Segment CD is the perpendicular bisector of [image: image25.png]AB



 at E.  Which pair of segments does not have to be congruent?

	1)
	[image: image26.png]AD,BD





	2)
	[image: image27.png]AC.BC





	3)
	[image: image28.png]AZ BE





	4)
	[image: image29.png]






5
In the diagram below, [image: image30.png]4B | DEF



, [image: image31.png]AR



 and [image: image32.png]BD



 intersect at C, [image: image33.png]


, and [image: image34.png]msORF = 1529



.

[image: image35.png]152°





Which statement is true?

	1)
	[image: image36.png]28°





	2)
	[image: image37.png]




	3)
	[image: image38.png]msACD = 71°





	4)
	[image: image39.png]m/ BCE = 109°







6
In the diagram below, [image: image40.png]DE



 and [image: image41.png]AF



 intersect at point C, and [image: image42.png]AD



 and [image: image43.png]FBE



 are drawn.

[image: image44.png]



If [image: image45.png]


, [image: image46.png]


, [image: image47.png]


, [image: image48.png]f5°



, and [image: image49.png]m/CBR = 115°



, what is the length of [image: image50.png]OB



?

	1)
	10

	2)
	12

	3)
	17

	4)
	22.5



7
As shown in the diagram below, [image: image51.png]ABC || EFG



 and [image: image52.png]


. 

[image: image53.png]1>

IO

o3




If [image: image54.png]ms/ COBF = 42.5°



, then [image: image55.png]ms EBF



 is

	1)
	42.5°

	2)
	68.75°

	3)
	95°

	4)
	137.5°



8
In the diagram below, [image: image56.png]AEFB||CGD



, and [image: image57.png]GE



 and [image: image58.png]GF



 are drawn.

[image: image59.png]



If [image: image60.png]msERG = 32°



 and [image: image61.png]msARG = 137



, what is [image: image62.png]ms BGF



?

	1)
	11º

	2)
	43º

	3)
	75º

	4)
	105º



9
In the diagram below, [image: image63.png]ABCD || EHE



, and [image: image64.png]MBHP



 and [image: image65.png]NCHL



 are drawn such that [image: image66.png]


.

[image: image67.png]



If [image: image68.png]msNCD = 62°



, what is [image: image69.png]ms PHE



?

	1)
	118º

	2)
	68º

	3)
	62º

	4)
	56º



10
In the diagram below, [image: image70.png]FAD || EHC



, and [image: image71.png]ABH



 and [image: image72.png]BC



 are drawn.

[image: image73.png]ID





If [image: image74.png]m/ FAB = 48°



 and [image: image75.png]ms/ ECE = 18°



, what is [image: image76.png]m/ ABC



?

	1)
	18º

	2)
	48º

	3)
	66º

	4)
	114º



11
In the diagram below, [image: image77.png]AFKE| CHLM



, [image: image78.png]FH = LH



, [image: image79.png]Fi = KL,



, and [image: image80.png]72



 bisects [image: image81.png]L HFE



.

[image: image82.png]


 

Which statement is always true?

	1)
	[image: image83.png]2(ms HLF) = s/ CHE





	2)
	[image: image84.png]2(mAFLE) = m/ LB





	3)
	[image: image85.png]msAFD = ms BKL





	4)
	[image: image86.png]S DFE = mZlELF







12
In the diagram below, [image: image87.png]s



 intersects [image: image88.png]AB



 and [image: image89.png]oD



 at G and H, respectively, and [image: image90.png]G



 is drawn such that [image: image91.png]GH = IH



.

[image: image92.png]





If [image: image93.png]m/ BGE = 50°



 and [image: image94.png]ms DG = 1159



, explain why [image: image95.png]AB| CD



.
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[image: image96.png]



REF:
061617geo

7
ANS:
2

[image: image97.png]



REF:
011818geo

8
ANS:
4
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081801geo

9
ANS:
4

[image: image98.png]



REF:
012421geo

10
ANS:
3

[image: image99.png]180 - (48 + 66) = 180 - 114





REF:
012001geo

11
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12
ANS:


Since linear angles are supplementary, [image: image100.png]ms A = 65°



.  Since [image: image101.png]GH = IH



, [image: image102.png]ms AT = 50°



 [image: image103.png](180 - (65 + 65))



.  Since [image: image104.png]ZEGB

AT



, the corresponding angles formed by the transversal and lines are congruent and [image: image105.png]AB| CD



.
REF:
061532geo
